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~ Paper-8
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GET-H

e ANSWeTS to questions are to be given only in English except in case of candidates who
have opted for Hindi Medium. If a candidate who has not opted for Hindi Medium,

his/her answers in Hindi will not be valued.
SECTION - A Marks : 60
Question No. 1 is compulsory.

Candidates are also required to answer any four questions

from the remaining five questions.

Working notes should form part of the respective answers.

Marks

1. (a) You are available with following information of Brave Ltd : 5
Debtor’s velocity 3 months
Stock velocity 6 months
Creditor’s velocity 2 Months
Gross profit ratio 20%

The gross profit for the year ended 31 March, 2023 was T 10,00,000.
Stock for the same period was T 40,000 more than what it was at the

beginning of the year. Bills receivable were T 1,20,000.

GET-H P.T.O.
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(b)

From the above information, you are required to calculate :

(i) Sales
(i) Sundry debtors

(iii) Closing stock

@
GET-H

Marks

The following details of Shiva Ltd. for the year ended 31st March, 2023 5§

-are given below :

Operating Leverage 1.4
Combil;ed Leverage 2.8
Fixed Cost (Excluding Interest) T 2.04 lakhs
Sales ¥ 30 lakhs
12% Debentures of ¥ 10 each T 21.25 lakhs
Equity Share Capital of ¥ 10 each | ¥ 17.00 lakhs
Income Tax Rate 30%
Required :

(i) Calculate P/V ratio and Earning Per Share (EPS)

(ii) If the company belongs to an industry, whose assets turnover is 1.5,

does it have a high or low assets turnover ?

(iii) Financial Leverage

GET-H
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(i) EPS of a company is T 60 and Dividend payout ratio is 60%.
Multiplier is 5. Determine price per share as per Graham & Dodd
model.

(i) Last year’s dividend is T 6.34, adjustment factor is 45%, target 3
payout ratio is 60% and current year’s EPS is T 12. Compute
current’s year’s dividend using Linter’s model.

X Ltd. has furnished following cost sheet of per unit cost i

Raw material cost - R150

Direct labour cost - T 40

Overhead cost E T 60
Total Cost - 250

Profit - R 50
Selling Price - 300

The company keeps raw material in stock on an average for 2 months;
work in progress on an average for 3 months and finished goods in stock
on an average 1 month. The credit allowed by suppliers is 1.5 months
and company allows 2 months credit to its debtors. The lag in payment
of wages is 1 month and lag in payment of overhead expenses is 1.5
months. Ihe company sells 25% of the output against cash and maintain
cash in hand at bank put together at ¥ 1,50,000. Production is carried on
evenly throughout the year and wages and overheads also similarly.
Work in progress stock is 75% complete in all respects. Prepare
statement showing estimate of working capital requirements to finance

an activity level of 15,000 units of production.

GET-H P.T.O.
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2. The data of K Textiles Ltd. are given as follows : 10
Particulars Amount (%)

Profit Before Interest and Tax 50,00,000
Less: Interest on debentures @ 10% 10,00,000
Profit before tax 40,00,000
Less: Income tax @ 50% 20.00.000
Profit after tax 20,00.,000
No. of equity shares (¥ 10 each) 10,00,000
EPS 2

PE Ratio 10

Market price per share 20

The Company is planning to start a new project needs to be having a total

capital outlay of ¥ 40,00,000. You are informed that a debt equity ratio

[DE E] higher than 36% pushes the Ke (cost of equity) up to 12.5%, means

reducing the PE ratio to 8 and rises the interest rate on additional amount

borrowed to 12%. Retained earnings of the company is ¥ 1.4 crores.
Find out the probable price of share if :
e  The additional funds are raised as a loan

e  The amount is raised by issuing equity shares.

GET-H
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ABC Ltd. is considering to purchase a machine which is priced at ¥ 5,00,000. 10

The estimated life of machine is 5 years and has an expected salvage value of

¥ 45,000 at the end of 5 years. It is expected to generate revenues of

¥ 1,50,000 per annum for five years. The annual operating cost of the machine

is ¥ 28,125, Corporate Tax Rate is 20% and the cost of capital is 10%.

You are required to analyse whether it would be profitable for the company to

purchase the machine by using ;
(i) Payback period Method
(i) Net Present value method
(iii) Profitability Index Method

Z 1td. wishes to raise additional fund of ¥ 25,00,000 for nieeting its 10

investment plan. It has ¥ 5,25,000 in the form of retained earnings available

for investment purposes. Further details are as following :

Combination of debt and equity 2:3

Cost of debt
Upto ¥ 2,50,000
Above ¥ 2,50,000 and to upto T 5,00,000
Beyond 3 5,00,000

Earning of company

ketention’ Ratio

Expected growth of dividend

Market price per share

Number of outstanding equity shares

Tax Rate

GET-H

© The Institute of Chartered Accountants of India

8% (before tax)
10% (before tax)
12% (after tax)
¥ 50,00,000
40%
5%
T 500
1,00,000
30%
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You are required to calculate :

i.  Cost of debt

ii. Cost of retained earnings and cost of equity

iil. Weighted average cost of capital

(@) BSB Ltd. is considering its new project with the following details :

Sr. No. Particulars Amount
1 Initial capital cost 5,00,00,000
2 Annual unit sales 6,00,000
3 Selling price per unit (in ) 120
4 Variable cost per unit (in <) 80
5 Fixed costs per year - 36,00,000
6 Discount Rate 10%
Required :

Marks

a. To advise the company whether to invest in the new pfoject or not

based on the NPV concept.

b. Compute the impact on the project’s NPV considering a 1%

adverse variance in each variable. Which variable is having

minimum effect ?

Consider Life of the project as 3 years.

© The Institute of Chartered Accountants of India

Year 1 2 3

PVF @ 10% 0.909 0.826 | 0.751

PVF @ 11% 0.901 0.812 0.731
GET-H
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(b) INFO Ltd is a listed cotapany having share capital of ¥ 2400 Crores of 5
T 5 each.
During the year 2022-23
Dividend distributed 1000%
Expected Annual growth rate in dividend 14%
Expected rate of return on its equity capital 18%

Required

(a) Calculate price of share applying Gordon’s growth Model.

(b) What will be the price of share if the Annual growth rate in
dividend is only 10% ?

() According to Gordon’s growth Model, if Internal Rate of Return is
25%, than what should be the optimum dividend payout ratio in

case of growing stage of company ? Comment.

(@) Write the main features of Bulldog Bond. 4

(b) What do you understand by Spontaneous Sources of finance and explain 4

its sources of finance ?

() What are the causes of over-capitalization ? 2
OR
What are disadvantages of Profit Maximization ? 2
GET-H P.T.O.
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SECTION -B Marks : 40

Question No. 7 is compulsory.
Answer any three questions from the rest.

Working notes should form part of the respective answers.

(a) Following information relating to a particular financial year is given 3
below :
Amount
Particulars R in
‘_L Crore)

Gross Domestic Product at Market Price (GDPyp) 3,500

Gross National Product at Market Price (GNP p) 3,200

Gross Domestic Product at Factor Cost (GDPg) 3,000
Net National Product at Market Price (NNP)p) 2,800
Indirect Tax 700

You are required to calculate :
(i) NetFactor Income from Abroad (NFIA).
(i) Consumption of fixed capital. .

(iii) Amount of subsidies.

(b) Discuss with example direct quote and indirect quote. 2
(¢) Explain the three aspects of fiscal function in an economy. 3
GET-H
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(d) Compute NM1 and NM2 from the following data relating to 31 March 2
2023 ;
Particulars X in Crores

Currency with the public 1,000
Demand deposits with the banking system 2,235
Other deposits with the RBI 1,139
Short term time deposits of residents 276

(@) () “Tariffs are price related instruments of trade policy that 3

governments use to restrict imports and/or encourage exports.”

Explain.
(1) Calculate Sales from the following data : 2
Particulars < in Lakhs
Closing stock 500
Opening stock 200
Subsidies 180
Intermediate consumption 1,500
Consumption of fixed capital 350
Net value added at factor cost 2000

(b) () 1. ‘The balanced budget multiplier is always equal to 1°. Give 3
your comments.
Assume that MPC is equal to 0.8, answer the following :
2. What is the value of spending multiplier ?
3. What is the value of tax multiplier ?

GET-H P.T.O.
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(i)

(@) ()

(i)

(b) @

(ii)

(10)
GET-H
How does the Reserve Bank of India control liquidity through
Open Market Operations (OMO) ?

“Cash Reserve Ratio (CRR) has to be maintained by banks as
cash with the RBI, while Statutory Liquidity Ratio (SLR)
requires holding assets by the bank itself.” Do you agree with this

statement ? Explain.

The table below shows Nominal GDP and Real GDP of the

country in 2 financial years.

Amount

(R in Crores)

Financial Nominal Real GDP
Years (FY) GDP

2020-21 1550 1190

2021-22 1700 1240

Calculate Inflation rate (upto two decimal) in FY 2021-2022.

List the problems involved in administrating an -efficient
pollution tax. '

Briefly discuss the National Treatment Principle (NTP) as one of
the major guiding principles of WTO.

GET-H
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10. (@ (i) The table shows the number of labour hours required to produce 3
Shirt and Trouser in two Countries X and Y.

Country | 1 Unit of Shirt | 1 unit of Trouser
X 3.5 Hours 5 Hours
Y 4 Hours 8 Hours

In the absence of trade :

1. Compute the Opportunity cost in respect of both

commodities in both countries.

2. Which country has comparative advantage in producing

Shirts ?

3. Which country has comparative advantage in producing

Trousers ?

(if) Explain the Transactions Motive for holding cash.

(b) (i) Calculate NNP. by expenditure method with the help of the 3

following information :

Items : T in Crores
Private final consumption expenditure 12
Net Import 19
Public final consumption expenditure 06
Gross Domestic Fixed Capital Formation 360
Depreciation . 35
Subsidy 120
Income Paid to Abroad 17

| Change in Stock 40
Net Acquisition of Valuables 15

(i) Discuss briefly the concept of Common Access Resources.

GET-H
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11. (@ (i) “Dumping is an international price discrimination favourirg 3
buyers of exports against which the domestic government levies

a protectionist tariff.” Analyse and explain the statement.

(ii) Compute credit multiplier if the required reserve ratio is 12% and 2
15% for every ¥ 1,50,000 deposited in the banking system. What
will be the total credit money created by the banking system in

each case ?

(b) (i) What are the main components of equilibrium income in a four- 3

sector model ?

(ii) Define the term market failure and name the four reasons for a 2

market failure situation.
OR

Briefly state the different modes of Foreign Direct Investment (FDI). 2

GET-H
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\ Hindi Version

37 TR ) Brest et i) wrem o 8, Te1 o I e SRSt A A A E |
g wtemeft e ) mem 7 g R, af el A sw e e,
o 3u e 3 faw 7 3l w1 e €T g |

AT — 37 Marks : 60
T G 1 A R |
iy e At # @ foredt 9w el % S i |
Hrivfier Rt (Working Notes) ST 3T M g1+ =112 |

Marks
1. (a) 3T Brave fifide &t fraferfan gemmd Suetsu & - 5
ettt et 37w
Tgferan <t nffteran 6 HTE
et sht ffoefieTar 2 W18
He AT 3G 20%

31 HTE, 2023 ) GUH 81 91 9N & AT T @9 T 10,00,000 T |
T GHT % fore i af % wReT @ € 40,000 ARt o1 | T e

21,20,000 % |

GET-H P.T.O.
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IR GES A ST o FR R
(i) - fosa
(i) forferer Sem
(i) rf~m @l

(b) 31 AT, 2023 F FAW B A 9§ F fore B Rafde =1 fmw P 5

ThR & :

RETe e 1.4

HYH I 2.8

Tt TmTa (s W) 3 2.04 TG
g % 30 AfE
12% V1Y ¥ 10 T % 21251
T W Y5fi 7 10 TAH & | 2 17.00 v
R 30%
3Tafée -

(@) P/V Igura 3R 3 37w 3T (EPS) i o BT |
(i) IR Tt T e § TR § R @iy weR 15 2, @
JHHT TR TR FATET R ITHA S 7
(i) TrefiT e
GET-H
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(©) () U FHE Sl i 37 3T (EPS) T 60 B 3R AW YW I 3
60% B | VT 5 ] | W1l 37X €1 AiedA (Graham & Dodd model) %
FIER ¥ 37w gex faifa A |
(i) TR a9 F1 AWV T 6.34 B, AURINF UIH 45% B, LI WA 3
HIITA 60% B 3R =1 9 %1 EPS T 12 § | fofed \iee (Linter’s
model)wmmmﬁﬁ%miﬁmﬁl

(@ X Tafiree 3 uft 18 wmra A Frafafas oh wga 61 8 ; 5
F= AT ) AN - %150
I HH AT - T 40
ITRTT AT S )
S AT o~ %250
oY - %_50
ICERR @l ~ %300

FH Wi § e 2 TER H1 w1 9T W@ ?; s wRF |
3 WER W1 3R AR AT S 1 7N F S @ | Sgfwete
TR 1.5 7€ 1 SUR Wigpa & 3R SR 3197 3R Y 2 7 1 3UR
TEH STl 8 | AGH % WA BT A=K 1 TN %1 & 3R Shemm @ %
WA T AR 1.5 AGH BT & | FEIT IATEH T 25% Tohe J Tk et
3 91 U Tohg Ta & QAT feITeRt 2 1,50,000 SHTT Taelt B | Iee R
o T w9 & R ST R e ol T SuRe Wt e s e A R |
yTferfter sl Wi @it fefert & 759 quf € | Searew # 15,000 ST
& frmfier @t B fm =3 F Rig seivia G B st
A ST §C Forartor s |

GET-H P.T.O.
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K eeersey faifes 3 faer armene wega fre & 10
oo ¥ 3)
TS 3R X F UgA T A 50,00,000
T : U9 W @ 10% 10.00,000
HLH UEA BT AN 40,00,000
H2TE : TR @ 50% 20,00,000
L ITEI AN 20.00,000
AT 39 6 G R 10 TAF) 10,00,000
EPS 2
PE 313U 10
i A% TSR oo 20

FEHT T 40,00,000 % Fe1 YSft @ HW Y ATATIHAT AT T T3 TRAT
& HT HY 1 91 T ] | 9! givra 6 wmen R 76 36% & s wor

WW[DEEJ‘iﬁﬁﬁﬂmﬁ(Ke)aﬁ‘lz.S%ﬁﬁm%mPE
STAT h 8 eh HH L a1 & T Afeiies U oft 718 Foft o =t Y 12%
o 9g( 401 8 | T <hY IfereniE sma T 14 TS R |

3 % WIS 7o T JaT ot Ale -

o ol Tl vk =0 & &9 3 ST et R |

o TRTHHAT SN H1 A FH 2T S R |

GET-H
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ABC Tttt wefin 9 w0 W R o @ @ Rrae 7ew 25,00,000 2 1

Wi 1 G Shem 5 ad @ qn e ant % o § onufda rafE I

T 45,0008 | 88 i a9 % T 1,50,000 Sfererd 21 Iwfla e orafda @ |
wsfie B aTffer afterTer ST € 28,125 8 | SN X ST 20% & a1 Yoft <6l
ST 10% R |

amep! Fruffta st @ o6 = st 3 fore fe 1 s ek wefia 3 e
TG BT ;

() YA srafy fafy

(i) % o e faf

(iii) T gTaT fowe gt

7 foafiee et fRaw Jem ) @ F@ & fAT 2 25,00,000 i o Jem
6 3°01 WA 2 | T9% TE e & wiem % e Suetsy wfvenfa o % &1
# % 5,25,000 8 | 1M hl TSR F=TFAR & :

o7 3R A% <1 fagon 2:3
T i AT .

'%2,50,000 T - 8% (T W UE)
£2,50,000 & 1R 3R 7 5,00,0009%F  10% (X & TEA)
¥ 5,00,000 % Affe® 12% (SR 9TET)

FHIHT Y A % 50,00,000
RreTor SrguTa | 40%
i A gfg i 3 15%
ISR 964 Wd %500
THTAT AW I ht TS 1,00,000
L 30%

10

10

GET-H P.T.O.
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T T Sfa #

i = ArE

i, wieia o <t e 3R 3w A
iii. Wi aftea Ioft <t e

(a) BSB foifes frafefaa foawor & amy a1t 48 dfdieT W AmR @ 5
2.

U AT foraawr ufyr
1 IRIRE $Sft @ 5,00,00,000
2 | aftes foshY < gerd 6,00,000
3 |y afies @ W) 120
4 T AT f 3618 (T ) 80
5 | Cuwit e i 36,00,000
6 |WLHR 10%

- Inftra

a. NPV JE€RUN % SAT9R W FHH ) geirg SR s 73 aieiemn o
P e | |

"b. TS WA 1% Svger oo w1 W@ F NPV Wy
o1 T | e R e A R @R 7

RIS T Sfieq 3 o w1 o -
v 1 2 3
PVF @ 10% 0.909 0.826 0.751
PVF @ 11% 0.901 0812 | 0.731
GET-H
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(b) INFO faifiree 2 5 w3 it T 2,400 HUg I 3w USh archt geftag w5
gl
Y 2022-23 F N
AT feraoT 1000%
T 4 afes sTafd gfg 14%
FHaT Yoft o aroet <t 3rifda ot 18%
Fufdra

(a)

(b

(©)

(a) TS WY HISA (Gordon’s growth Model) T TN Hieh 39 % o4
&t o HifST |
(b) 3 T e T BN, A T Al e i < haet 10% R ?

(c) TIST MY AigH (Gordon’s growth Model) % AR, A 3=l
mazs%%,aa‘mﬁaﬁﬁmmﬂaf@ﬁﬁwm
YA AT 941 BT ? ST hf |

S 9108 (Bulldog Bond) ¥t 77 fershyamd fifaw | 4

o % WA (Spontaneous) BT A A FM AT E AN TR A F 4
Bt 1 quiq Hifg ?

nfer-gfientor 3 a1 HRor € ? 2
Fgar
ATH STfereheHiRToT % o A & ? 2

GET-H P.T.O.
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-9 Marks : 40
WY T 7 AfaE R |
AN 51 A O TRl oyl o I AR |
Hrfyfie feorfrt (Working Notes) I &1 WIT B+t =1fRC |
7. (3 U fonfimad @ safRo gt @ g d 3
afdr
feremor
RFSH)
ISR Hed T HHS 9] IR (GDPy ) 3,500
TSR e W Hehel TFH IATE (GNP p) 3,200
HSH AN | HHA T 301G (GDPp) 3,000
TSR e W G TS 341G (NNPyp) 2,800
ATIH : 700
IR = Y o R R
() oW & Y FR® o/ (NFIA)
(i) TR %1 3um
(iif) 3TFEH 6T TN
(b) A& ST TUT A St 1 IR Afed qUH HIT | 2
(©) @W—Wﬁmw%mmﬁ.ﬁwﬁml 3
GET-H
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) 319, 2023 ¥ gafRrq Fr g @ NM1 am NM2 6 0T HiR 2
oo IS U
EECIE R Re A 1,000
sferT sorreft < 9 [T S 2,235
TS o I 31 S 1,139
e it sreusmiferss e e 276

@ () “I¥ch, SR A% qea e aee & 72 waR a3
 yivefRa w0 siv/ sran Pt S g 3 g TgE wWE 1

wWE T |
(i) T o | “fasea’ Tfdt <t omn hifre 2
oo - T Gl d
Ff~m @i 500
YRR ©ih 200
I 180
e UM 1,500
R gsft =1 3 350
T AT TG e e 2,000
) @) (1) FfRw s T g 1 R 1 T T A | 3
7R fof MPC 0.8 % TR & iR i s difve:

Q) EEHH A RIE?
(3) IV HT T TR ?

GET-H P.T.O.
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(i)

(@) (@)

(i)

(b) @

(i)

(22)
GET-H
‘g’é EISICS ﬁh‘ﬂT&ﬁ (Open Market Operations) g0 "R fooret

e T KA P wwEd

“Tohd! ARIET IFIATT (Cash Reserve Ratio —~ CRR) Fehi ) T
% ¥4 § YR Red d & wrg S92 @ g @, S s
AT SHIUTT (Statutory Liquidity Ratio — SLR) & gRT &4
eIl ! STC TEAT UMM AT § 17 9 39 S HYT A
HeAd 8 ? wE I

= arforemt Qw7 ) ol ol & T St g Sl
St =t wefia it 2 -

fr @ =g M)
frefaad | s i | et S
2020-21 1550 1190
2021-22 1700 1240

forfta o 2021-2022 & W& w H E HRT @
YTg=ey &) | |

U FU YU X % e § 37 aneht gwens’ w geag
IS |

fove =R WMeT (WTO0) % T W@ Anieyis figd & &9 o
TS 9= frgra (NTP) %1 Gt auit IR |

GET-H
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10. (@ (@) = arfoes S X @ v & ¥ ue A= oM Ry aravas am 3
quet = TEAT I S & :
Ul W H 1558 Yzt 1 3%
X 3.5 90 5Tue
Y 4 "R 8 que

Wﬁ:ﬂj"l@iﬁﬁ

1. S < § g1 aRgail =t STEER STa Y 1o HIf |

2. TR ¥ goTeTeh €9 § HH-ATeu o h R AR 7
3. AT A H goATeTh T A P-T e ww Y R AR 2

(i) T I | Thg W@ ! W FIRNT | 2
®) () e gEmet f wgEa @ = il @ g uda s (NNe) 3
&} T H
L[ TR |
Fsft st~ sum = 12
6 [\ 19
HresTiE /BT 3rfm Iusi = 06
weper s fRr doft formfor 360
B 35
I 120
Tore =t a1 e 17
@Y (W) o it 40
el a3l 1 g rftmrgw 15
(ii) quﬂm (Common Access Resources)ﬁ YT <hl 2
- gferm qofa Fifvig |

GET-H P.T.O.

© The Institute of Chartered Accountants of India



(24)
GET-H Marks
1. (@) () “Q9T (Dumping) Th IS Joa Fafa S @i S yg § 3

Yo § R fiIe wie] TR W S (Protectionist
Tariff) T 8 |7 6 e 1 fageur v eqdfiestor Hifv |

(i) afe s Joreht ¥ T T 1,50,000 STHT % foIT HawF Il 2
ITAT 12% TUT 15% B, q9 hiSe TV ! VAT HINT | T+ |
Rufer & fef srorreft grar TS i sper el g A 2

(b) () IR-8 AleH & T 3 b TIE T2 BA-Y & ? 3
(i) SR fawear s+ gienfya Hie qen s fedar $H 2
e & 9r wror fafew |
AT
ﬁ%?ﬁ Ty faw (F oréign Direct Investment) * Tt aremt 2
! GHY F qGAIT |
GET-H
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